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BEREH: Sy 2tFE 18%Y 4.70H / 8H
2 # 1BIE - AR By B B % i w =
23
L 20.00 138.00 2,760
EBEF (—))
A 1.00 21, 200. 00 21,200
BE (FSvo[EEE) 2t
R 4.70 248.00 1,165 SE BR
BE (FSvo[EEE) 2t
=] 1.13 2,530. 00 2,858 #Ee
& & 27,983
BFRES  2-2
BIHREMH  3@EE 54 kN2 2L 1B%Y 2.00H / 8H
2 # 1BIE - AR By B B % i w =
HIy>
L 6.00 151.00 906
BE (54 FAVICHER]) EETEE HRE2 0L
R 2.00 290. 00 580 SE BR
BE (54 FAVICHER]) EETEE HRE2 0L
=] 1.19 1,510.00 1,796 #Ee
& & 3,282
BHRES  2-3
BilZ&RA% : BIEM FRP D TOPSEY 1A%Y 8H
2 # 1BIE - AR B B B % i w =
=ihA
L 44.00 95.50 4,202
LTy
A 1.20 30, 400. 00 36,480 B=1.20
B (@M FRPH]) D 70PSE! 3.0GT
=] 1.00 3, 200. 00 3,200 EELH
B (ZEMmFRPH]) D 70PSE! 3.0GT
=] 1.65 3, 350. 00 5,527 a=1.65 #Ee
= it 49, 409




